asym_atll

asym_atrl

asym_atl2

asym_atr2

run7293 000 r

—14(
10000 - 10000
- - —{80c
i —12( -
i _ —{70¢
5000 - 5000
: 100 - .
ok ok
[ == I
-5000 ~5000
i i 100
10000 a1 . 10000 i
- m - m
IIIIIIIIIIIIIIIIIIIIIIIIII I} IIIIIIIIIIIIIIIIIIIIIIIIIIIIII ﬂ
80 B0  -40 =20 0 20 40 ~30 20 10 ) 10 20 a0
diff_bpmXum diff_bpmdaYium
diff _ diff_ bpmdaY
I I
i —14c i
i i —{80c
10000 - 10000 |
i - i —70t
5000 - —[10¢ 5000 —|60C
[ n |
o ok
B - |
-5000 ~5000
10000 10000
_IIIIIIIIIIIIIIIIIIIIIIIIII _IIIIIIIIIIIIIIIIIIIIIIIIIIIIII {'
B0 B0 40 -20 ) 20 40 30 20 10 ) 10 20 a0
difi _bpm1Xum difi_bpmda¥ium
d. d'
- - —10€
40000 [ —14( 40000 —
30000 30000 |
- —12¢ - m | —s0c
20000 " 20000 —
- —10¢ -
10000 | 10000 |
" n N
oF m of
10000 10000 |
20000 [~ 20000 —
" - N
C C 200
30000 30000 |
n 200 N
" H N
40000 40000 |
Cl v vy v o b e b r e v o by o AN N N T NN 0
B0 -0  -40 =20 0 20 40 30 30 10 ) 10 20 a0
diff_bpm1Xum diff_bpmdaYium
d. d'
: I :
40000 —14( 40000
- - —lanc
anoo0 o000 i
- —12¢ - —aor
20000 . 20000
- —101 : 701
10000 n 10000
C - — 500
o ] oF
10000 10000
20000 " 20000
C 400 C
B B |
30000 30000
- 200 n
40000 40000
E'DDDDZIIIIIIIIIIII IIIIIIIIIIIII EDDDU:IIIIIIIIIIIIIIIIIIIIII

egression-asym at vs d

diff _

10000
i —{12¢
5000
I —{10r
ﬂ_
: ]
~5000
10000 - .
IIIIIIIIIIIIIIIIIIIIIIIIII ﬂ
80 60 -40  -20 ) 20 40
diff bpmdeX/um
diff _bpmdeX
i — —14c
i u
10000 - i3
- —{100
5000
 mnm |
ﬂ_
~5000
10000
_IIIIIIIIIIIIIIIIIIIIIIIIII
B0 B0  -40  -20 ) 20 40
diff bpmdeX/um
d.
40000 | |
30000 —12¢
20000 "
- —{100
10000 u
n [ |
'ﬂ‘:—l
10000 |
20000
30000
" 200
n n
40000
Cl o v v e v b v v o e a b 0
80 60 40  -20 ) 20 40
diff_bpmdeX/um
d.
40000 —{14€
30000
- —{12¢
20000
- —10c
10000 L
o n
10000
20000 "
apooo
n 200
40000

diff_bpmdeY

—10¢
i —a0t
5000
i —&0C
= |
B |
. 400
~5000
i 200
10000 |- : -
- [ |
| I L1 11 I L1 11 I L1 11 I L1 11 I L1 11 I L1 11 I 11 I}
a0 =20 =10 0 10 20 a0
diff_ bpmdeYium
diff _bpmdeY
B I
| |
[ —la0(
10000 |-
i —a0t
. —|700
5000
- I _E-'I:I'I:
- n
oF o 500
- |
- 400
~5000 [ 300
i 200
10000 — 100
_I I L1111 I L1111 I L1111 I L1111 I L1111 I L1 11 I L1 D
a0 -20 -10 ) 10 20 a0
ditf_bpmdeYium
diff_bpmdeY
40000 [
C |
30000 [ —10C
- EE
20000
- —80(
10000
o 0C
10000
B 400
2poo0 — M
30000 [ 20(
- m
C n
40000 b
Co e b b b by ra b o
a0 -20 -10 0 10 20 a0
diff_bpmdaY/um
diff _bpmdeY
40000
30000 B | 7o
20000
- —aol
10000
ofF BOC
10000
- 400
20000 -
30000
C 200
- m
40000 .l
I:III:I :I I L1 11 I L1 11 I L1 11 I 111 I I 1 11 I I 1 11 I I 11 I}

L.Z postpan.pne—-

10000
—80(
—700

5000
—600

=5000

10000

1 I 1 111 I 1 111 I 1111 I 1 111 I 1 111 I 1 111 I 1 1
~150 -100 -50 O 50 100 150
diff_bpm12X/um

-
E

i — 800
= m
10000 _— [ —=or
| —lgor
5000 — m
B | |
| =
D_
-5000
10000 [~ =
_I I L1111 I L1111 I L1111 I L1111 I L1 11 I L1111 I L1

=180 100 =50 1] 50 100 150
diff_bpm1 2X/um

diff

40000 — M

- —|=s¢
30000 |
20000 |- oo
10000

ob 15(
10000 |

- 100
20000 —
30000 — 500
40000 —

Cy oo v baa v b b brraa b

160 -100 =50 D 50 100 150
diff_bpm12X/um

diff

B I—
40000 - m -
30000 |
20000 | =i
10000

- —15(

O

10000

- 100
20000 —
30000 cor
40000
E,DEIEIU:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ﬂ

=150 =100 =50 1] 50 100 150
diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run7293 000 regression-reg at v

diff _ ,

10000 —{14C 10000 —
i I —{aor
- —12( =
B - —{ 0L
B000 B000
i e i a0
| = |
o o
- u B
5000 5000
i i [ ]
10000 — 10000 —
_l||||||||||||||||||||||||| D _|||||||||||||||||||||||||||||| ﬂ
=80 =G0 =40 =20 (1] 20 40 =30 =20 =10 (1] 10 20 an
diff_bpmXum diff_bpmdaYium
- _ —14( -
5 = —{ 800
10000 _— 12 10000 _—
i [ —{700
5000 |— - o1 5000 [— —&00
o o
- . -
5000 5000
10000 — N 10000 — 100
_|||||||||||||||||||||||||| _|||||||||||||||||||I|||||||||I {'
~80 50 40 20 (1] 20 40 =30 20 =10 (1] 10 20 a0
difi _bpm1Xum difi_bpmda¥ium
10000 10000 — —&0C
B —14( B
: : — 800
B —12( B
5000 — - 5000 — —{ 700
: — 100 :
o o
' " m = -
=5000 5000 —
= - 200
10000 _— 10000 _— [ ] 100
| i [ |
I N N N N N o RN EEEEE NN RN AN NN | 0
B0 B0 40 20 (1] 20 40 =30 20 =10 1] 10 20 an
diff_bpm1Xum diff_bpmdaYium
diff dlthpmélaL
10000 10000 —
B —12( B
5000 [~ ot 5000 |-
. - B
o o
| m " B
5000 — 5000 —
10000 — 10000 —
_||||||||||| ||||||||||||| ||||||||||||||||

-20) —‘H}

10000 |-
- —12¢
5000 = —1oc
: (]
ﬂ __
5000
'_ [
10000 | i
I L1 1 I 11 I 1 1 | 1 1 | 11 | 11 | |
80 G0  -40 -20 O 20 40
diff_bpm4aX/um
difL
i — 140
[ |
- n
10000 - —12¢
i —10c
5000 "
i [
ﬂ L
- n
- m
5000
10000 |-
: Sl
I | I | I L 1 1 I L1 1 | L1 1 | L 1 1 | L 1 1 | |
80 80 40 -20 0O 20 40

diff_bpmdaX/um

diff_bpmdeX

10000 —
- —14c
B —{12(
5000 —
. W
i —10¢
['_
| = =
5000 —
10000 —
IS AN N N N 0
~80 B0 40 20 1] 20 40

diff_bpmdeX/um

dlthpméﬁL

10000
—120

—10C

“1ostpa

diff_bpmd4eY

10000 -
B —{ 800
B000 —
i B0
ﬂ_
. N
B [ |
B 400
=5000
i 200
i [ ] [ ]
H:?UUU_— [ | -
clv v bvvr e b rvr v v b aa by 0
=30 =20 =10 (1] 10 20 an
difi_bpmdaY/um
diff bpmdeY
B I
B [ | — 100
10000
| —B0(
000 —
: .. GO0
o | [ |
B [ |
= 400
=5000
- 200
10000 —
: ="
NN NN NS NN NN EEEEE NN 0
=30 20 =10 (1] 10 20 a0
diff _bpmdeium
ﬂ}ﬂlﬂﬂ— —10(
5000 —80C
ﬂ_
=5000
i 200
10000 —
i [ |
plvvva bvvra bvrrr b bvvra brv b o
=30 20 =10 (1] 10 20 an
difi_bpmdaYium
mnnn_— o
RO00 — —{80C
. n
= [ |
5000
I 200
10000 -.. |
|||||||||||||||||||||||||||||||||| o

=30 -20) =10

n p n 2 i hﬁm4n3‘1"."urn

L
10000 —
Roon —
- W
0 m
| =
5000 —
i [ ]
1[:IDDEI_— n [ |
I|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
=150 =100 =50 ] 50 100 150
diff_bpm12¥/um
difL
| — —800
R |
B —80[
10000 —
B — 70
5000 — —B0C
[ =
| =
o N
[ m
5000 —
10000 — 100
I|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

=180 100 =50 1] 50 100 150
diff_bpm1 2X/um

10000 —
Lo0o —
D_
5000 —
10000 —
ol b b b b Lo L 0
=160 =100 ~50 1] 50 100 180
difi_bom12X/um
difL
L
i [ | [ ]
10000 — —800
i —70c
5000 - et
| = e
D_
- N
—E-I}UU—.
B 100
'1[?UUU_— | I -
plvvov bvvn s by vnr bvvnn v b o a b 0

=150 =100 =50 1] 50 100 150
diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

dlthpmlL

%2 / ndf 25.1/21 |
+

pO 4531+ 8.148

p1 48.41+1.14 “/:r A{
- - _

=2000

=4000

=6000

-80 -60 ~40 -20 1] 20 40

diff_bpmlX

[ Ef ndf 21.58/ 21
8000 -
E p0 2.236 £ 9.558
6000
i o1 —48.3+1.3
4000 [
2000~ T - ) Wﬂ!" -
ﬂz_ ) .Hﬁﬁh““ﬂ“h“*
i W }
-2000 |- 1 }
4000 — }—
:l | L1 1 | L1 1 | L1 1 | L1 1 I L1 1 | L1 1 | L1

80 -60 -40 -20 O 20 40

diff bpmlX
¥ < { ndf 15.45/ 21

pO 089252 + 29.7422

pi 159.5 + 4.2 k
T

-80 -60 ~40 =20 1] 20 40

diff_bpm1X

¥/ ndf 21.32 /21
p0 ~7.193 + 31.260 l
p1 323144 ﬁ} i
- 1‘_%
5000
A |
~5000 —
N }ﬁ*
10000 r“
15000 — }
: |-I | | 11 1 | | I 1 1 1 I 1 1 1 | 1 1 1 | 1 1

run7293 000 regres

diff_bpmdaY

v2/ndf  43.77/37

p0 1.25+ 8.22
p1 30.21+ 1.53 w
¢ WM |
~1000 :—
_zann:— *
_S.DDD:_IIII|IIII|IIII|IIII|IIII|IIII|I
-30 -20 -10 0 10 20 30

diff bpmd4aY
¥2/ndf  27.02/37

p0 2414 £ 9.637 -

IFTN £.554 +1.786
-1

diff_bpmdaY

%2 / ndf 28.74 / 37

p0 -30.53 % 27.65

o1 570.4 + 5.1 WP
10000 tﬁ*}ﬁ -
W

F
1

10000

20000

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

¥2 / ndf 26.61 /37

pO —45.011 29.71

o 640.7 + 5.5 H*HU
0000 |- #qf;f
10000 f— wh{wﬁ

S
20000 | *

2ressmn asym at

diff_bpmdeX

e | ndf 20.05/ 22
p0 4.738 + 8.161 {
pi 4857 +1.13 |
: **M}
L _ | / i
! b f
2000 ) - -wPH )
4000 1‘ }
|_| 1 1 1 | 1 1 1 | | I .| I 1 1 1 I | I | | 1 11 | |

-80 -60 ~40 =20 1] 20 40

diff_bpmdeX

i - ¥2/ndf  10.75/22
BO00 [

i p0 1,566 + 9.579
e o1 _46.07 +1.32
4000 }

E{:IDD:— N - _H }

- +++'|'+

ﬂ__ } \M
i +‘]}ll
= 2000 ~ {
_WDD 1'_| 1 1 1 | 11 1 | | I | I | | I | I .| | 1 1 1 | |

80 60  -40  -20 0 20 40

diff_bpmdeX

%2/ ndf 18.08 / 22

p0 -3.037 + 29.662

p1 176.1+ 4.1 :
5000 E— qm_\u[ )
b |
: ++
5000 | «ﬁr + {
10000 f— H
15000 %W [ ||_| AN T T I N O I

:

-60 -40 =20 1] 20 40

diff_bpmdeX

¥e [ ndf 18.08/ 22
p0 —6.68 £ 31.09 i
p1 337.21+4.3 NHHA i
5000 — {
o |
~5000 —
: { tﬁh*
10000
C t w
15000
E.I::Il::":":l'I_'_lIII|I IIIIIIIIIIIlIIIlI

E

diff_bpmdeY

¥2 / ndf 28.81 /32

pO 4.7/55 1 8.220

p1 39.27 £1.57
1000 — \l
of H
_1000 - ” {htjr
_2000 l
_3000

=30 -20 =10 0 10 20

diff_bpmdeY

= 1000

=
[T T T rrrr[rrrrt
1
:._l;—
—_—

w2 | ndf 42.81 /32
po 0.8747 + 9.6396 |»
p1 10.74 + 1.84 |

14

=200 i
:|| EERENEEEENEE NI NEEEE AN R EE NN NN
= =20 =10 i 10 20
%2 / ndf 45 /32
p0  -21.94 + 26.85 }
p1 665 + 5.1 W} }
10000 |- i H
oF
SR
10000 HHH#
20000 :' -
Cv v v b o bvsaa by g b
=30 =20 =10 (1] 10 20

diff_bpmdeY _

%2 / ndf 42.64 /32

p0 ~35.77 + 28.80 }
p1 742.9 £ 55 H“‘
i}
10000 -
(1]

10000

I I LI I LI I L I
1
[ T—

20000

=30 -2{) =10 0 10 20

m- t'” “postpan.png

diff _

B —
4000
2000 - [’W&HH
N iy
D __
_sp00
4000
I

¥2 / ndf 26.05 /38

pO 5.7/49 £ 8.035

p1 -14.75 £ 0.26

]

k

=150 100

diff_bpm12X

50 100 150

- ¥2/ndf  24.14/38
L0000
i | p0 5.023 + 9.535
20007 W p1 -11.42 + 0.30
A
: _ wm\% {_J,
2000 [ HMN}
-4ﬂDDE}
—ﬁﬂDDE}
:|I|IIII|IIII|IIII|IIII|IIII|III-I|II

=180 =100

;

O

40000

30000

¥

20000

10000

10000

20000

30000

.I.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

40000

&

WF

o

50 100 150

¥2 / ndf o2.92 / 38

pO 7105+ 8.676

p1 -238.8 £ 0.3

=180 =100

40000

30000

20000

10000

10000

20000

30000

40000

=1
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

50 100 150

%2 / ndf 35.14 / 38

p0 -5.286 + 9.057

p1 -259 £ 0.3

H
tl.
L

=150 =100

50 100 150




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run7293 000 re

diff bpm1X

p0

p1

%2 [ ndf

26.79/ 21

5.236 £ 7.994

0.3645 = 1.1166

1]

=1000

=2000

=3000

=4000

~5000

'I_IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-6000

I

-80 -60 ~40 -20

diff

5000
4000
3000
2000

1000

=1000

=2000

=3000

_bpm1X

1] 20 40

¥ | ndf 20267 21
pO 2.426 + 9.409
p1 —0.09797 £ 1.31541

-B0O -60 ~40 =20

91

4000

3000

2000

1000

=1000

=2000

=3000

iff_bpm1X

1] 20 40

%2/ ndf 23457 21
po 4512 £ 8.166
pi -0.3911=1.1366

*ﬁw H
|

0l -

-80 -60 ~40 =20

diff_bpm1X

2500

2000

1500

1000

500

1]

=500

=1000

1] 20 40

7%=/ ndf 206/ 21
po 0.6562 £ 8.1497
p1 -0.4881=1.1370

 |

'WMM |

t

80 60 40

2ressmn reg

°1.

3000 %2/ ndf 44.84 / 37
2000 f— pO 6.151 + 7.988
1000 :_ pll -1 315 i 1.453
|l Sl
of MMMM h
~1000 | 4 |
~2000 |- -
~3000 |
:I 1 11 | 1 111 | 1111 I 1 111 | 1111 | 1 111 | 1
30 -20 10 0 10 20 30

iff bpmdaY

diff_bpmdaY

%2/ ndf 277137
po 1.056 + 9.392
p1 0.4418 + 1.7421 |
: w H + + W
°r 1 | |W|H|“*“|+'““ e 'F#HEI:*W |
~1000 :— | ‘e
=2000 :—
_|||||||||||||||||||||||||||||||
=3 =20 =10 (1] 10 20 ah
1£j!h — ;][
B 12/ ndf 38.64 / 37
3000
- p0 4515+ 8.158
2000 —
- N p1 -0.4968 = 1.5125
1000
: il
~1000 -
~ 2000 f—
-:mnnf— *
4000 f—
_EQDU 54 taa v by sy bvv o byl ||_|| [ 4

=20 =10 1] 10 20

a0

diff_bpmdaY

¥2 / ndf 36.31 /37
pO 2921+ 8.152
p1 0.8943 + 1.5191
2000 ;— {
1000 f— }
ui— hHH{F} *ﬁwmeﬁﬁ*ﬁw
-mnnf— ]
- 2000 f— }
-ﬂﬂDDEi

at vs diff bp

diff_bpmdeX

%2 { ndf 21.09 /22
po 5.326 + 8.010 }
p1 0.6858 = 1.1106
; e H
n— ] ettt }
~1000 E— ) ww w
_2000 - '
-3000 f—
- 4000 E—

6000

4000

2000

= 2000

=4000

91

4000

3000

2000

1000

=1000

=2000

=3000

3000

2000

1000

=1000

= 2000

m-iit postpan.png

2 { ndf 9.423 ] 22
p0 2.334 + 9.423

p1 —0.06805 £ 1.30397

|

h ++H1W{Hh| {

+|III|III|III|III|III|III|I

80 60  -40  -20 0 20 40

iff bpmdeX

%= [ ndf 17.23 722
p0 5.816 = 8.176

p1 -0.3444 + 1 1258

) . 72/ ndf 13.15722

- po 2.152 £ 8.163

p1 -0.8621x1.1272

|Wﬂ

1
oy

rTr 1T [ rrrr [ rr1r 1 [ 1 11 1T [T 17171 1
. e

-20

%

bpmdeY

- - 2 / ndf 25332
4000 [
- p0 8.723 + 7.991
3000 |
C p1 -1.622 + 1.525
2000 [~
1000 |
ﬂz_ ﬁIhﬁﬂﬁhﬂﬂﬂkﬂﬁﬂﬂ*mﬂﬂﬁﬁﬂﬁﬁﬂ }
IRy |
1000 T }
-2000 | "
_I | L1 11 | L1 11 I L1 11 | L1 11 | L1 11 | L1 11 | 11
=30 =20 =10 (1] 10 20 a0
diff_bpmdeY
3000 [~ 72 ndf 45.44 [ 32
2000 |- p0 ~1.012 £ 9.398
—_— pl  —0.1583 + 1.7905
1000 — _ |
i Nl
or HLHJr + ¥
~1000 [ { |+
~2000 |
_SDDD_Illllllllllllllll|||||||||||||||||

91

3000

2000

1000

= 1000

= 2000

=30 20 =10 (1] 10 20 an
w2 [ ndf 25.99 [ 32
| p0 4128 + B.164
pi —0.7965 + 1.5588

T

o

diff_bpmdeY

-30 =20 =10 0 10 20 a0

%2/ ndf 17.55/32
PO 1.855 + 8.154
Pl 0.1861+ 1.5668
2000 ;‘ )
mnnf— —‘ _
ni— erl}hﬁ*#hmﬁﬂwﬁu#ﬁtqﬂw H} _
_mnnf— 1 }
2000 ;
'3*}““3‘.|...'.|....|....|....|....|....|..

-20 =10 0 10 20 30

di

3000

2000

1000

=1000

= 2000

=3000

=4000

4000

2000

= 2000

=4000

~6000

=

bpm12X

- 32 / nd 28.16 / 38
— no 8.306 + 7.970
- { pl —0.002369 + 0.253007
S 1 N ——

- +i"r t !

"

diff_bpm12X

=180 100 =50 1] 50 100 150

- 2 [ ndf 24.05 [ 38
n0 1.262 + 9.383
) Lw _0.1278 + 0.2992

| WW

=180 100 =50 1] 50 100 150

diff_bpm12X

12 / ndf 41.99/38
p0 6.533 + 8.139
p1 0.0233 + 0.2594 4
L |
— h e A et *
of MM{H* ,erH
=2000 :' -_ * T
—4ﬂﬂﬂ:;
—B000 ;4 ||T| v v by ey beaaa by

diff

2000

1000

=1000

=2000

=3000

=4000

~5000

=180 100 =50 1] 50 100 150

_bpm12X

i 1 1 ndf 31.24/38
F + PO 4.091+8.134
- h}ﬁw pl  —0.0458 + 0.2595
5 | H |

:I_l I |-| 1 1 | L 111 | 1111 | 1111 | 1111 I 1111 | 1 1

=180 =100 =50 1] 50 100 150



asym_atll

asym_atrl

asym_atl2

asym_atr2

run7293 000 r

it

10000 10000
5000 5000
ol 0
-5000 ~5000
10000 ' 10000
i | 1 1 1 | 1 11 | 1 1 1 | 1 1 1 | 1 11 | 1 1 1 | |
80  -60  -40  -20 0 20 40 -30
diff_bpmXum diff_bpmdaYium
. . ff
B I
10000 — e 10000
5000 5000
o o
5000 ~5000
10000 AR 10000
i | | | | | I | | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | |
80  -60 40  -20 0 20 40 -30
difi _bpm1Xum difi_bpmda¥ium
. . ff
40000 [ 40000 —
30000 30000
20000 20000
10000 10000
o o
10000 10000 |
20000 [~ 20000 —
30000 30000
40000 40000
il N T T T T T O A AN A O A [ |
80  -60 40  -20 0 20 40 -30
diff_bpm1Xum diff_bpmdaYium
. .
: I : I
40000 40000
anoo0 o000
20000 20000
10000 - 10000
0F oF
10000 10000 -
20000 20000
30000 o000
40000 40000
3|...|. Loy ol ..|...|. o

50000 TR,

EDEIDU

eogression-asym_ at vs diff

b

it

10000

5000

=5000 —

10000 —

diff_bpmdeX/um

10000 —

5000

=5000 —

10000 —

diff_bpmdaX/um

40000

30000

20000

10000

10000

20000

30000

40000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

s
2
5
5
-
3
5

diff_bpmdeX/um

40000

30000

20000

10000

0

10000

20000

30000

40000

50000 T

m-scat_'m)stp

10000

5000

=5000

10000 —

30 -20 10 O 10 20 30
diff_bom4eY/um

10000 —

5000

=5000

10000 |- IR

=30 =20 =10 0 10 20 30
diff_bpmday/um

40000

30000

20000

10000

10000

20000

30000

40000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30 w20 -0 0 10 20 30
diff_bpmdaY/um

40000
30000
20000
10000

1]
10000
20000

30000

40000

||||||||||||||||||||||||||||||||||
0000 -30 =20 =10 10 20 a0

an p n 2 diff_bpmda'/um

10000 —

5000 —

=5000

10000 —

1 | 1 111 I 1 111 | 1111 | I.I 1 1 | 1 111 | 1 111 | 1 1
~150 -100 -50 O 50 100 150
diff_bpm12X/um

10000 —

5000 —

=5000

10000 —

T FEE N F AN RS ERE N RN NN A
-150  -100 =50 0 50 100 180
diff_bpm12Xium

iff_ bpmI12X

40000

30000

20000

10000

10000

20000

30000

40000

=
IIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

plvvvr bvvrr berrr b v bvr v brv b
—1ED =100 ~50 1] 50 100 180
difi_bom12X/um

iff_bpm12X

40000

30000

20000

10000

10000

20000

30000

40000

v b b b b by By
0000 =150 -100 =50 1] 50 100 150

diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

it

10000

5000

=5000 —

10000 —

diff_bpmXum

10000 —

5000

=5000 —

10000 —

difi _bpm1Xum
L] [lf
10000

5000 —

5000 —

10000 —

diff_bpm1Xum

iff bpmlX

10000

5000 —

=5000 —

10000 —

run7293 000 regres:

ressmn'" reg

10000

5000

=5000

10000

10000

S000

=5000

10000

10000

2000

5000

10000

10000

5000

~5000

10000

at vs dif

diff_bpmda¥ium

diff_bpmda/um

diff_bpmda¥ium

it

10000

5000

=5000 —

10000 —

10000 —

5000

=5000 —

10000 —

diff_bpmdeX/um

it

10000

2000 —

=5000 —

10000 —

diff_bpmdaX/um

10000

5000 —

5000 —

10000 —

diff_bpmdeX/um

—ED

~bpm-sc¢at postpan.png’

10000

5000

=5000

10000

diff_bom4eY/um

10000

5000

=5000

10000

diff_bpmday/um

10000

5000 —

=5000 —

10000 —

diff_bpmdaY/um

iff _bpmdeY

10000

5000

=5000

10000

=30 -20) - 0 10 20 30
diff_bpmdaey/um

10000 —

5000 —

=5000

10000 —

~150 -100 -50 O 50 100 150
diff_bpm12X/um

10000 .

5000 —

=5000

10000 —

ol b s by byl
-150  -100 =50 0 50 100 180
diff_bpm12Xium

10000 —

2000 —

5000 —

10000 —

~180 -100 -50 O 50 100 150
diff_bpm12X/um

10000 —

5000 —

5000 —

10000 —

v b b b b by By
=150 -100 =50 1] 50 100 150
diff_bpm12X/um




